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CHM152 Quiz3 25 Pts Fall 2017 Name: _x'----------,a~~----
1. (2 Pts) Consider the reaction N2(g) + 3H2(g) =; 2NH3(g). If hydrogen gas is added to this 

system at equilibrium, will the reaction shift towards reactants ~ 

--?' 
2. (2 Pts) Consider the reaction N2(g) + 3H2(g) =; 2NH3(g). The production of ammonia is an 

exothermic reaction. Will heating the equilibrium system increase o~e amount of 
ammonia produced? . 

.co:( 

3. (2 Pts) Consider the reaction N2(g) + 3H2(g) =; 2NH3(g). Ifwe use a catalyst, which way will 
the reaction shift? ':'\ 

.1.+- w~t s~,H (o')l r'eo.c. e~ ei~i"liht-,·u.fn\ P~~, 
4. (3 Pts) ff th £ 11 1ven e o owmg a a or ere d t £ th action: A(g) + 2B(s) =; AB2(g) 

Temperature (K) Kc 
300 1.5x104 

600 55 k 
' pr, cl l<..J~ 

e- ~ r fee, ct o. ~ 1< 
900 3.4 X 10-3 

Is the reaction endothermic or exothermic (explain your answer)? 

t d- IS o.,;r-. \4\a..i~1f't~ °the te.Y'il(lf1,:J'u.r-a a•~S. j lrvdu..c,,.) +~H~to{' '\ 

exothe-rnh't.-- ,.. ..,. (/.., ,~. 

5. (4 Pts) Consider the reaction, N2(g) + 3H2(g) =; 2NH3(g). Kc= 4.2 at 600 K. 
What is the value of Kc for 4 NH3(g) =; 2N2(g) + 6H2(g) 

N ... ~l + 3 H~(ri ~ ~Nli3~) kl,= ~:s;H,J3 # 4. J.. 

~ ;)N~~) ~ ~ H ~) ~\-_ == [A!;J:t D~~Jb 
J. [,v 1+3] ~ 

I 
4,:i.~ = 0,057 
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6. (4 Pts) 5.00 mol of ammonia are introduced into a 5.00 L reactor vessel in which it partially 
dissociates at high temperatures. · 

2NH3(g) ~ 3H2(g) + N2(g) 
At ~quilibrium at a particular temperature, 1.00 mole of ammonia remains. Calculate Kc for the 
reaction. 
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I O<> .... ~X = ~ :: of aoo ' !:, ()() 
)(-;;;. o, 400 M 
o,J-oo I.~ 0,'-f 

7. (4 Pts) 4.21 moles of S2Cl4 are introduced into a 2.0 L vessel. 
S2Cl4(g) ~ 2SCh(g) 

At equilibrill_!!l, 1.25 moles of S2Cl4 are found to remain in the container. 
reaction. 

k = c... 

_r~ ~.,_] J 

[s i u.'iJ 

Calculate Kc for this 

E, I . J..5 5,9j_ 
d-,. 1 0 ~ .. () 

8. (2 Pts) Consider the equilibri~m equation C(§) + H2O(g) ~ CO(g) + H2(g), ~H = 2296 J. 
Which way will the reaction shift if the volume of the container is decreased? 

<::: ( be.c NU, ~I J.JJ lJ D JI.(.. Me in c.re.(J..,Se ? ressu. re So e i ~I}, b (' i IY'Y\ 

5 h\ ~+~ -n, W(.td / @~i, fiY'\c)t! 0 ~ 8 &.. , ) 

9. (2 Pts) What is the correct equilibrium constant expression for this reaction? 
2HI(g) ~ H2(g) + h(g) 


